Z
(2) TGNE
PART -1
(1) GENERAL ENGLISH
ﬂire:tij:n: (1 =2) : In each group of words Directions (6 - 7): Each of the p——
given below: only ens wonl s spelt idioms is followed by four meanings
correctly. Choose the one. of which only one is correct. Choose
the correct one.
1. (1) Nutritous
(2) Nutrishus 6. to take away one’s breath
(3) Nutritius (1) to surprise one
(2) tohitone badly

(49 Nutritious
(3) tokill one

2. (1) Magnificient (4) to lake away one’s money

(29 Magnificent
(3) Magneficient

(4) Megn ifecient 7.  adead letter
’ (1) one which has nol been posted
Directions (3 —3) ¢ Each of the fulluwmg
: (2) oneof rejection

been dwtd:::l into four
efror in ong of the

part which has the (4)

scnr.em:as has
parts. There is an
parts. identify the

(3) no longer in use
one that has not reached its

erTor. destination
No sooner dld the thief see 38
3. NS (2) , Directions (8 — 9) : Choose the correct
the policeman when ) he ran away. alternative to complete each of the
(3) (4) following sentences :
Ram is  anxious 0 gee you for the _ ‘
. “m T @ =@ 8. You__ be mad if you think
last -uné week. I | am going 1o lend you more money.
(4) ok ol G4 - (19 might
lﬂ 1A " (2) oughtto
| asked mg m' if | can can
> (1) (2) ) (3) should
take his pen. (4)  must

(4)



TGNE
9.

Eatingsweets __ be bad for

your teeth,

(1) should

(2) would
(3) oughtto

t4)

may

Directions (10 — 11) : In cach of the

10.

1.

following items choose the words
opposite in meaning to the given
word.

SACRED

(1) Unholy

(2) Open
(3) False

(4) Inauspicious

SOBER | |

(1 C rooked

(2) Drunk

(3) Unwise

(4) Cruel

3)

Z

Directions (12 - 13) : Out of the given

12.

13.

alternatives, choose the word which
most closely fits each definition.

One who has vowed not o marry
(F)
(2)

(3)
(4)

Spinster
Bachelor
Celibate

Callous

A self-centred person
(1)
(2)
(3
(4)

Arrogant
Profane
Egoist

Clever

Directions (14 — 15) = Choose the word

14.

15.

from the given oplions which best
expresses the meaning of the given

word :

RADIANT
(n
2
&)
(4)

Famous
Bright
Just

Timely

STRICTURE
(1
(2)
(3)
4)

Crticism
Harshness 1
Despot

Passion
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16. ﬁ'ﬂﬁ’lﬁﬁﬁﬁﬁqmwaﬁqﬂt?
Fr2 fom o faredt & firu

(1) T
(2)
(3)
(4)

98

<
e

17. ‘3e" &1 faudiarels we fafafea
ferseyt # 4 wifew
(1) T

(2) fasnm
(3) HIETH
(4 T

S

fretffian ==l § 8 U@ 9 F
'ﬂ?ﬂm:

(1) wshds@e
(2) W ADIE
(3) TEEE Wi 2 |
(4) B SR |

18.

9. e F g - % R P

et @ om
i g R 7 fafem

(h W

(2) woq
(3 g
4) Hug

(4)
W |

20.

21.

22.

"

TGNE

" =T - e & o R
Y et # & = Fifig |

(})  IEA
(2) gt fr
(3) Tmd B
(4) T g

‘A TR AT — et & 3 F
frerifera foredt 3 @ wram ifs

(1) =

(23 g e B
(3) =HieA 9w

(4) yHiEa

exfyerr 3 3 a7 =i =g e

IR ared Tee - & IgET R 7
oé faeq 7ar3T |

(1) |
(2 Pwa=
(3 ECANGETELE

(4) SEEE AT

frefafad faweai & & g = w1
afa-faee faftm it

(1) & +74
(2) G+
(3} ¢+ HH

(4) T+ 9™
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15, wd fawen 9 g Preafefaa s &
ﬁ?ﬁmﬂ‘@m

AR W@
(1) e

2) ™

(¥ AT

(4) uF

26, Preferfian i @ frm we d ELiy
2 7wt foepea waTsy |

7
8. I firw wree 1 Farafer R 7 W PR




PART - I/ wpr - 11

(6)

(1) CURRENT AFFAIRS / ST Sear

31. Where among the following is the
current headquarters of UNESCO

located ?

(1) New York

(2) Geneva

(3) Switzerland
(4) DPans

Where among the following is the
International Court of Justice located ?
(1) Berlin

(2) The Hague

(3) Barcelona

(4) New York

33. Which .nrﬁﬂrtg the following country
won the Women's Rugby World Cup
held in 2017 ?

(1) En gland

(2) MNew Zealand
(3) Canada
(4) Australia

44. Which of the following is the correct
match of books and authors of 2017 2

a. First Love .  Sara Baume

b. A Line Made ii. Gwendoline
by Walking Riley

¢. The Heart's  iii. Viet-Thanh
Invisible Nguyen
Furies

d. The iv. John Boyne
Refugees

x: b c d
(1) iv i i [
(2) i il I v
(3) 1 v il
(4) i nodi v

35.  Where is the headquarters of World
Health Organisation located

(1) Geneva (2)  Madrig
[3} New York {4) Gman}l

3l

32,

33.

3s.

TGNE

Pt FE q ®

g i d . () ¥ 5dEE

HEuTed FR W fRm R 7 |

(1) =i

(2) a1

(¥

(4) i@

fraffiga o & simida = @

wifdmt ?

() =R

() &

(3)

(4)

2017 # @@ 1 wfen v farm w9 5

i s Reagm I fmt 1

(1) viE

(2) =pivts

(3) HATE

(4) Fefern

2017 % wed # gew! ol % SE

F Am i3 de-femaRad 7

o FE i, H A

b, UHEA S ™ i, S T
E\(F |

c. ZEHH i, ferra o= va
At
e

d. & Rl iv. A W
a b C d

(1) iv il W

(2) i T v

@) i i v il

4) 1 i v

fyva @A WS F A FE W

femt?

(1) S (2) nfEs

(3) (4) SR
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36. Which of the

tollowing option is
correct with reference 1o the tally of
gold medals won in Asian Athletics
Championship, 2017 9

(1) China, India, Kazakhstan. [ran
(2) India, Kazakhstan, China, Iran
(3)  lran, India, China, Kazakhstan
(4) India, China, Kazakhstan, Iran

37.  Which of the following Act was
amended by the U.S. house of
representatives to facilitate defence
co-operation in India recently ?

(1) Mational Defence Act, 2017

(2) Mational Defence Authorisation
Act, 2018

(3) MNational Defence Act, 1980

(4)
Act, 2020

38. Which of the following refers w'ihe
" maiden search and rescue exercise
scheduled in November 2017 in Bay

of Bengal ?

(1) IMMESAREX
(2) IMSAAREX
(3) IMMASAREX

(4) TIMASAREX

What was the mascots for the 2017
FIFA Under 17 World Cup Football

Tournament played in India 'y

(1) SHERA
(2) BHOLU
(3) KHELEO
(4) APPU

)

National Defence Aulhurﬁy I

(7

36.

3.

38.

39,

Z
Frefafiea § | #F1 @ e fimEm
trefesn dfgafi, 2017 ® fafm
29l g iR T @l 9gF F FHEAR

fram e 2 7

(1) <, s, e,
(2) ¥, Ftee, oA,
(3) %, wrE, i, HAfne
(4 mﬂ,ﬁﬂ,ﬁﬁﬁﬂ,ﬁq

e @ #, st 6 Rff oA
wr % gan # wgam @A & ferd
Bt o B fem sfufam &

wein Rrm k7
(1) e feha T, 2017

(2) e fobe sfdiosETR oW,
2018

(33 o= fedw e, 1980
(4) e fade wtaied e, 2020

2017 % e wrE 3 Fraffa T -
Gré) i TEen @i T T=E A 6
frefrfem i s A= R ?

(1) amé uw vm § vE u A S O
(2) LY AW §

(3) R 9 U UH T AR § O
4) AIdwuwEeImiTE

Wra ¥ @ e e 17 e e
F9 2017 peatar wfeafien +1 Aewi

7
(1) 9w

(2) W
(3) Wega
(4) 3



L

40. Where is the

41.

42.

43.

45.

headquarters of
Intermnational Union for Conservation
of Nature located

(1) Paris, France

(2) Gland, Switzerland

(3)  Vienna. Austria

(4) New York, US.A.

Which of the following city hosted
"A testival of India’ in 2017

(1) Delhi (2)  Amsterdam
(3) Rotterdam  (4) Hague

Under which Anicle of the
Constitution of India did the Union

Government setup a Commission to
examine the sub-categorization of the

other Backward Classes in August
20177

(1) Article 338
(2) Article 338A
(3)  Article 340
(4) Article 341

Which of the following city hosted
the 2017 Asian - Athletjes
Championship ? :

(1) Delhi (2) Bengaluru
(3) Bhubaneshwar (4) Chandigarh

Who among the following won l|:l-E
gold medal in 10,000 metres race in
Asian Athletics Championship, 20177
(1) Govindan Lakshmanan

(2) Adilet Kyshtabekov

(3) Gopi Thonakal

(4) Chen Chich

Which of the following country won
the men's gold medal in Javelin
throw event of the Asian Athletics
Championship in 2017 ?

(1) Qatar (2) India

(3) China (4)  Thailand

8

40.

41.

42,

43.

45.

TERS S ¥ sl Gy
e FE W fRm R 7
(1) =, we

(2) whe, s
(3) fomn, srifean
(4) =[AH, L.UE.1.

2017 ¥ frafefiea d @ fw e 3
YT 1 RN Y Ao 6 ot 7
(1 Resht (2 wwEw
(3) Tetew (4) zEm
wide dfvm % fee st &
yiewfa, &2 FEHRA 3T 2017 9 I=
e anl & swaffem & olwo &
form, s =1 e e 7

(1) 3T=0% 338

@ BT 138A

(3) 3F=8g 340

(4) FT=\T 341

2017 % ufirgs vy Sfgafim &
Ao frafafea § @ fre w3 6
off 7

(1) f=h (%)

(3) YEAEK (4) m

2017 % @ W R e
IfAfm F 10,000 dex f Az 1
Frferfaa 3 ¥ fre ol v e 2
(19 MR FwEe

2) Ffeem fFeReE

(3) T FrTEw

(4) A=

2017 % @@ M ofimn R
At 3 geut & i o Sael o
wievafiren 3 forw 3w 3 ot ves e 2
(1) Fm (2) A

(3) ¥ 4) U



50.

5l.

TGNE
46. 'Which of the following day was ohserved
as “World Teachers Day' in 20177

(1)
(3)

June, 24 {2)
September, 5 (4)

May. 24
October, 3

47. Which among the following refers 1o
the National  Electne Mobility
Mission Plan, 2020 ?

(1) To achicve national fuel security
by promating hybnd and electne
vehicles in the country.

To replace diesel engines with
clectric engines and achieve
fuel secunity.

To replace coal engines with
electric engines and achieve
fuel security.

To replace petrol engines by
diesel engines and achieye fuel
security.

(2)
(3

(4)

48. Which of the following day was
observed as the *World Cancer Day® ||
this year ? : »
(1) February, |
(2)
(3)

(4)

January, 26
February, 4
February, 14

49. Which of the following day was
observed on March 1" this year ?

(1)  Self Injury Awareness Day

(2) Blood Cancer Awareness Day
(3) Anti-terrorism Day

(4) National Youth Day

Which of the following day was
observed as the Intemational Day of
Happiness in 20177

(1) March,25

(2) February, 14

(3) January, |

(4) March, 20

Which of the following day Wwas
observed as the ‘World Nature
Conservation Day" this year »

(1) 15, August (2) 28, July
(3) 27, June (4) 25. March

meﬁﬁWﬁ'

2) T@Wtﬁm*mw
RS R

(1) ¥, 25
(2) W@, 14
(3) sFEd, 1
(4) wH,-20

5. Wl frefefgm i 3, Smafm A

w“ﬁmm ¥ ®q &
T a1 7
25, 94

2
M 27, ¥W o

(4)
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54.

Who among the following has
recently  authored the  book
named, ‘The Ministry of Utmost
Happiness' ?

(1) C.M. Pokhriyal

(2) Arundhati Roy

(3)
(4)

David Grossman
Michael Clarke

Which of the legendry poet was
conferred with 4" Kalinga Literary
Award in 2017 ?

(1)
(2)
(3)
(4)

Hemant Mohapatra
Anil Chavda
Haraprasad Das

Tapan Kumar Pradhan

Who is the author of *Indira Gandhi :
A Life in Nature', published

recently 7

(1) Jai Ram Ramesh
(2)
(3)
(4)

M. Veerappa Moily
D.G. Tendulkar
Kiren Rijjju

Which of the following book has
been authored by Ashwimi Kumar in
201772

(1} The Rise of Sivagami

(2) Gandhi in Champaran

(3) Hope in a Challenged
Democracy An  Indian
Narrative

(4) The Flaming Tresses of

Draupadi

(10)

32,

55.

TGNE
e @ d g Rfeh e s

tRE T g %) Prafafea § @
fore foran R 7

(1) #t.om, fredaE

(29 wufa e

(3) fys aieda

(4) IEHS T

Aofafa o @ frg g SR =
2017 & st st Hfem wfd

QR Sgr T T ?
(V) Rea g
(2) e ST
(3) WHER W

(4) T HHR AU

' Wﬂﬁmﬁm*ﬁwm:waw

390 ) e Rrar 8 7
(1) R
@ . o e

(3) .. A
@ fRaffe
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56.

With reference to the books published

n 2017 and its authors
the following is the core Wikieh Smong

a. Istanbul - A l.  Pankaj Mishra

Tale of Three
g Cities
-Age of Anger: i P
A History of =PRI
the Presemt
€. 4321 : A Novel 1i. Sarah Crossan
and Brian
Conaghan
d. We Come iv. Bettany
Apart Hughes
a b C d
() iv & i 1
(2) v i Wi

(3) i i i v
(4) i v i i

57. Which is the correct statement with
reference 1o the recently launched
e-RAKAM poral ?
(1Y A digial

exchanging currencies.
~ (2) A digital plotform for buy

and sellin agricult
products. . -

(3) A digital platform for paying
laxcs.

(4) A digital platform for imports
and exports.

£8. Which of the following statement is

correct about the recently launched
mobile app called *Aarambh’ by the
Government of India ?
(1) An app for performance based
maintenance of roads.
(2) An app for perfi
maintenance of buildings.
(3) An app for performance based
maintenance of reservoirs.
(4) An app for performance based
maintenance of cleanliness.

Which of the following in:.;ritul:inn
hasif*e::ently launched the ‘Mentor
India’ initiative ?

(1) SH R;ll'wl Aayog

2 NITI Aayog
g}} NAMO GANGE Aayog
(4) Makein India Campaign

platform  for |

ormance based

(11

57,

z

2017 # wefim et 3R I

das = Pefafes § @ 96 #e-

‘ﬂlﬁnaﬂamt;ﬂ -

a. YA : T L T
FERdE

b, OF AE O T i, W7 AT

?ﬁ? HET
e 432)-uAfEE i, GrOE wiEA 3
ATA

d. & wx e iv. W §F

a4 h c d
(1y iv i i
(2) iv i Wi
(3) 1| n (. A
(4) aii v 1

A SR W S A R 7

() T F AGR-TEH FH H
fafirea <esid |
(29 Feael w1 i 3R = =

(4) W W F=Ha & @E@E H
IS RRE

Frerferfen F ¥ 9 A w3 T &
i e g s R wew AR 2
(1) | 3R

(2) it 3mam

(3) 9 T 3y

(4) 9% @ iRew fwm
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62.

63.

Which of the following State
Government has recently launched
the India’s first student startup and
innovation policy ?

(1) Gujarat Government

(2)  Delhi Government
(3)  Haryana Government
(4) Tamil Nadu Government

Which of the following is the correct
statement  regarding the ‘Navika
Sagar Parikrama Project’, 2017 ?

(1) First Indian Circumnavigation
of the globe by an all women
crew,

(2) First global navigation of

oceans by Indian men.

3)

First navigation of seas and
oceans by Indians.

(4)

What is the theme of the 2017
National Girl Child Day ?

(1) Child Marriage Prohibition
(2)  Girl Child Safety

(3) Beti Bachao, Beti Padhao
(4) Beti Bachao, Beti Badhao

Which of the following is the correct
statement regarding the new Open
Acreage Licensing Policy for Oil and
Gas Exploration ?

(1) It prohibits licensing policy for
oil exploration.

It allows bidders to carve oul
areas where they want to drill.

(2)

(3) It prohibits licensing policy for

- gas exploration.

(4) It allows oil and g
exportation.

First international circumnavigation.

(12)

i

61.

62.

Frerforisn 4 2 9 9 T2 T
o @ ° vy ) gefvem B =
3 araw fife 6 eama 12 7

(1) T9d |@ER

(2) feeht wwm

(3) EiEn SR

(4) TG g

2017 % Al g gfea afEsmE

& an 4 Proferfen o @ =9 @1 +w=

wElR 7

(1) %Fae w#igen =EH g0 HEH
UEe! WA gEE qHSE 6
uftfy v |

(2) widE qeNl g HETETR $i 549

qr |

(3) Wil g @ggl 3R FEmTT
w1y |

(4) Eelt 3reidia gty S |

2017 ¥ wim wifee fam &1 R
HAWR ?

(1) et feamg fru

(2) wrgfhal H g

(3), T w=AR, A A

(4) ¥ TR, A TH@H

6. Prefufed i @ #R W wu T

e we W TEEERTE F W H
adie? ‘
(1) uﬁﬂﬂmmﬁfﬁﬂﬁﬁiﬁ

T T 2 |
TR
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64,

65.

67.
:.1.5"
68,

69.

70.

Whi-I::h of the following country is
hosting the G7 Interior Minister's
Summit on security in 2017 7

(1) Canada (2)

ltaly
(3) France (4)

Japan

Which of the following day was
observed as International Literacy
Day in 2017 2

(1)
(3)

August, 15 (2)
September, 8 (4)

January, 26
April, 24

Where 15 the headquarters of the
North Atlantic Treaty Organisation
(NATO) located ?

(1) Brussels, Belgium

{2y Berlin, Germany

(3) Kathmandu, Nepal

(4) Pans, France

Which of the following day WII
ohserved as the National Girl Child
Day in 2017 ?
(1) August, I35

(3) January, 26

(2)
(4)

August, 24
January, 24

In which country was the Women’'s
Rugby World Cup held in 20177

(1) Ireland (2) England
(3) Canada {4) France

Who among the following won the
UUEFA Men's Player of the year
award for the 2016/17 session ?

(1) Paulo Dybola

(2) Crishiano Ronaldo

(3) Lionel MésSi

(4) Casemiro

country 15

Which ‘of the following o polio

still showing records

cogee- mged 2) India
' n

(1) Somalia (2) h

(3) Pakistan (4) H;nglades

(13)

65.

67.

68,

10.

(%)
Prferfiae & 3wl srgeties did @S
(1Y) o T I R R 7

(19 i, afcwan

(2) wfera, FHAT

(3) mﬂ'is_.'#cna
(4) ufw, wE

2017 # fy=ferfiga 4 # fea fm =t wim
wfers feam % 9§ == T | Y

(1) e, 15 () IS, 24
(3) wwaEh,26 (4) el 24

2017 6t when e faga Fa wfwrm
fopg T smaim g o 7

(1) Gt (2) FE

(3) THAE (4) W

frefrfiga # @ fFed qedl % UEFA
aiffe RaemEl g &l 2016/17 &
Hfmd ?

(1) U feamn

(3 T A=

(3) fome aedt

(4) SudQ

fave ey wmea ¥ aran Prafafaa
1 8 feg 2w 1 anfl oft ey o 0
WR?

(1) wfemn (2) WA

) ufeEm  (4) ETene




71.

74.

75.

(14)

TGNE

PART — 11/ T - I
(2) REASONING ABILITY /b gra gHar

If first and the last day of the month
are Sundays and the month has 3
Sundays, then the number of days in

the month are

(1) 28 (2) 29

(3) 30 4) 31

Find the missing term in the series
given below :

0, 4, 18,48, 2 ., 180, 294

(1 72 (2) 90

(3) 100 (4) 142

Which number does not belong to the
class ?

125, 343, 512, 476, 216

(1) 476 (2) 343

(3) 216 4) 125
Which of the numbers does not
belong to the group ?

325, 473, 246, 583, 684

(1) 684 (2) 583

(3) 473 (4) 325

If the 3™ of a month is Sunday and
the month has 5 Sundays, then the
month consists of how many days ?

(1) 31 days (2) 30 days
(3) 29 days (4) 28 davs

72.

|\ ¢

14.

75.

71.

aﬁﬁﬂﬂﬂﬁmwaﬂfﬂﬁ“ﬁ"
Wﬁ,ﬂm“ﬁﬁsrﬁmﬂ?ﬁ
ax g fea A w1 & 2

(1) 28 2 29

(3) 30 4) 31
Profifaa Aoft § g1 ¥ 9T I
#$HIfT :

0,4,18,48,_2_, 180, 294

(1 72 2) 90
(3) 100 4) 142

13, fre oil @ WA 30 R A A
A T8 @ran ?
125, 343, 512, 476, 216
(k) 476 (2) 343
(3) 216!/ (4 125
f2 T 3w F A A G IS FAE
fmR?
325, 473, 246, 583, 684
(1) 684 (2) 583
(3) 473 (4) 325
R feht R 6 dwd afa ==
Frar & aon 7 3 5 TEmE, @«
7én & 5t fren e e 2
() 31f@ ) 30fm
(3) 29fe& 4) 28%=
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76. If 253 is coded as 352 and 475 1s

coded as 574, then 2317 would be
coded as

(1) 7321
(2) 7231
(3) 7123
(4) 7132

77. If the 25" of July in a year is

Thursday, the number of Tuesdays in
that month will be |

(1) 3
(2) 4
3) 53
(4) 6

78. Which of the following 1s: the next
term of the series given below ?

ACX.BDU, CER,DFO, 2
(1) - FHN
(2) EGL
.(3) DHN
'(4) DGM

79. Which of the following is the

missing term of the series given
below ?

.
(1) 4 s §
2) 9 For
(3) 27
(4) 49

,64,25,216

717.

78.

af> Rt ad & Sorrd wE A 25 A
! gEefoeR 8, @ 39 HIE # fepem
IR &M ?

o> 3

(2) 4

3y 5

(4) 6

frafofea ol & & |1 @1 v &
Soft 1 T 9g & 2

ACX, BDU, CER, DFO, _? _

(1) FHN

(3 EGL

(3) DHN

(4) DGM

79. Prefafea § ¥ 9w o @ Aoh

% §¢ IS [ L 9
1.8, 2 ,64,25, 216
(1) 4

? 9

3) 27

(4Y Aq



0. From the given alternatives, select
the word which cannot be formed
using the letters of the given word.
MANUFACTURER
(1) CURRENT
(2) NATURE
(3) FRACTURE
(4) MANNER

81. The word RACE is coded as 3124
and LEARN is coded as 54136, then
CLEAR would be coded as

(1) 25413 (2) 21354
(3) 25431 (4) 24135

82. A student ranks 9" from top and 24"
from the bottom in his class. The
total number of children in the class is
(1) 30
(2) 31
(3) 32
(4) 33

83. Which of the following words

appears last of all the other three in
the English dictionary ?
(1) Opportune (2)
(3) Oppress (4)

84. How many rectangles are there in the
following figure ?

Opponent
Opposite

() 6

2) 9
(3) 12 (2)

A% 1&

(16)

TGNE

g0. feu Ty fywedl # & 3@ weg Wl AT
R feu o v & e S SN G

&l ST 1 9hdl :

MANUFACTURER
(1) CURRENT
(2) NATURE

(3) FRACTURE
(4 MANNER

§1. % Hikfah W1 H RACE @i feran
ST 2 3124 @47 LEARN ! fer@n st
%54135.ﬁrCLEAR$‘tﬁ-‘1ﬁTWrr:
(L) 25413 (2) 21354
(3) 25431 (4) 24135

82, 39 w&T 1 T OF & H SW
gaf gyt A ¥ 2441 8 | H&1 H Fe

(1) 30
(2) 31
3y 32

\'\ (4) 33
W%ﬂﬂﬁaﬁﬁﬁmﬁm??
(1) Opportune  (2) Opponent
(3) Oppress (4) Opposite

24 £3 & 1rd et o b A & 2

2) 9

(1) 6
' (4) 15

(3% 12
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85. If ‘new school’ 1s coded 93 Z
sehool and tcacher‘L o ‘33541 ;1::1:'.[ 85, .4fg = E AL # ‘new school’ i
‘good teacher” 15 coded as 14, then 23" fovan 9, *school and teacher

‘good new teacher and school’ :.l.fnu'ld w304 foram [, #H ‘good
be coded as teacher’ i ‘14’ o 9 | dl *good
(1) 12403 (2) 21034 new teacher and 5n:h-:ml'$"|ﬁ-“‘l‘ﬁﬁ:
(3) 20431 4 (k) 12403 (2) 21034
LR (3) 20431 (4) 14320
86. Some equations are solved on the 86, F@ whew fw R womeRt *
basis of a certain systém, On the same A frg e & | T TR W,
basis, find out the correct answer
from amongst the four alternatives for 7o 1 Ry e G wt 3 feu
the unsolved equation. ﬂqﬁﬁfﬂ?ﬁ.?‘«ﬁ 1 & 7 I |
4.&5=29.ﬁﬁ?=55*7.ﬁ.3=? 4&5=29,ﬁ5?=55i?53=?
(1) 33 (1) 335
(2)y 44 ! (2) #
(3) 63 (3) 63
(4) 71 4 7l
87. Which of the following fills the gap 87. T=fafiaa % | W\ ° IS am =oft
in the series ? ﬁamﬁﬂmﬂmg?
11,31, 41, 2 L TIEN] y 11,31, 41, _2 L 71,91
(1) 43 TR L
' (2) 47 4 (2) 47
(3) 2l (3 51
(4) 6l (4 6l
gg. If 121 : 1331 and 169 = 2197, then gg. AR 121 @ 1331 T 169 - 2197, R
289 :7 289 :7
(1) 2057 (2) 2873 (1) 2057 ) 2873
(3) 4913 (4) 6859 (%) 4913 (4) 6859
9. In a certain code language PARK 15 89, U Hichiceh WITHI A PARK &1 RCTM
coded as RCTM and Spﬂtﬁ L 11 SPARE %1 URCTG fran s &,
““dﬁl‘fi 2 ;ﬁ:f' iher A BUCKET %t foran s :
® e OLFU (1) FXEMGZ () CVDLFU (2) FXEMGZ
DWEMGV - (3) EXFNHW (4 DWEMGYV
\ (3) EXFNHW  (4) VEMM Y =
SPACE FOR ROUGH WORKITE e 0, DY
Sth= 7% =
T{,Lxc.k d=|
=M 47

ATTLal |

— [y



91.

92.

93.

1 TGNE

A man walks 6 m towards south and : ﬂ)_ 9(), qﬂiﬂlﬁﬁ 6 ¥ftex o il IR T g
then tumns right. P;‘ﬁar :ralkillig : m, g S & | R 4 et 9o & 4G g
he again turns nght and walks 0 m.

In wﬁich diractinE is he now from the o S & 3R 6 el S 2| s
starting point ? 3G RS A afrafemAR ?
(1) West (2) East (1) uqfEw 2 w©
(3) North (4) South (3) I (4) oo
What will be the order of appearance of 91. ST !!miﬁ\?l # frafefea gl &1
following words in English dictionary ? A T & ?

i. Breath ii. Breast i Breath ii.  Breast

iii. Breadth iv.  Breach iii. Breadth iv. Breach

(1) i, i, iii, iv (1) i, iiy iii, iv

2) v, i, i, iii @) v, ii, i, iii

(3) v, il ii, i (3) v, iid, ii, i

(4) i, 1, 1v, 00 (4) il i, iv, 1

What is the number of triangles in 92. 2 & wd Irepfar & Byl K T /I
the following figure ? rft 2

I,tlii-..t\'

1 12 2) 16 () 12 2) 16

(3) 20 4 24 (3) 20 (4) 24

Five students are sitting in a 93. ﬂﬂwﬁq"ﬁﬁﬁﬁ 2 | g,
Tushant is on the right ::I-Ithavi. M;‘gj # ¥ gfEt I AT X | T, W
is on the left of Ravi but on the right of ardt 3 g SN & e A &
Lokesh. Tushant is on the left of 3 | gu, T & AR AW A R
Kunal. Who is sitting in the midd|e » gEF aa | AW R?

(1) Ravi (2) Tushant N W (2) g

(3) Lokesh (4)  Manoj (3) @ 4) WA

SPACE FOR ROUGH ;{;ﬁi;mmﬁ % fag e
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94. Identify the diagram that (
represents the relationship amtnfﬂt 3, ey AR e i:
classes Fiven below : mmmﬁmwwt
Liquids, Milk, Oil 754, 7, e
O
w@° | "©@ =@
3) @ @ (3) @ @ O
95, Findth i :
tl:zseﬁ:‘?mbﬂ which does not fit in os. =i R Soft 3 =8 s X v
2.3,5,7,9,. 11,13 oft & aftra e 2 -
() 5 @) 7 fnj 5,79, 11,13 % o
(3 9 s R 9 @ 13
96. ::':::Eh}t‘h\'ﬂ ﬂumbﬂ'l'ﬁ do not fit in the 96. ﬁﬂﬁ"ﬂiﬂ auﬂ. ﬂ, a-ﬁ:{ ﬂ ﬁ 12 21 ﬁ
13,23, 33,43, 53,63, 73 et T8 @ 2
(N (23 43) (33, 63) 13,23, 33, 43,53,63,73
Gy R8s b gEy @ en
97. Th f f three brothers born
at :Ems:rTa?s :F?;:ars, is 36 years. The |7 197. m ‘g.a 4 ¥ e | ¥ W ﬂ
difference between the ages of eldest T4 ?}1’4 3&
and the youngest brother is 2 | TR w3 3 B2 ) THHA
() 3y O ]g“m ?lﬁtiﬁ 2) 1034
3) |2 years (4) 15 years
W : —_— 3) 1294 4) 159
98. How many triangles are there In e
e llowing figure ? op, i d spha o e B 2
(1) 12 2 20 (1) 12 (2) 20
(3) 28 (4) 32 | (3) 28 @ 32
H WORK/ 6 H1A & (0 e

SPACE FOR ROUG



100.

101.

102.

-*-I

103.

104.

CAPE is coded as 1243 and HOLD is

coded as 5867, then HEAD would be
coded as

(1) 7632

(2)
(3) 8247

(4)

5327
5627

If 312 is written as 6 and 654 is

wrntten as 15, then 978 would be
written as

(1) 17 (2)y 19
(3) 24 (4) 27

A man walks 3 km towards north of
his house and tums left and walks
2 km. Then he turns right and walks
1 km. Then he again turns night and
walks 5 km. How far is he now from
his house ?

(1) 4km (2) Skm

(3) 8km (4) 1Tkm

Mukesh is the brother of Sati?.
Deepti is the sister of Saura'hh Sans]-\
is the son of Deepti. How 1§ Mukesh e

related to Deepti ? [P
(1) Nephew (2) Son
(3) Brother (4) Father

Which of the following is the next/
term in the series ?

ABZ.CDX, EFV,GHT,_?

(1) JLT (2)

IKS
(3) JKR (4) IR

STOP : POTS and RATS : STAR,
then START : __?

(1)
(3)

TRATS
STRTA

(2)
(4)

RATTS
TRTSA

(20)

99.

100.

101.

_ TGNE
U Hishfash Y11 H CAPE #1243 oy

HOLD &t 5867 for@r smar 2 | 3y
grekferes W91 § HEAD it foran s .
(1) 7632 () 5327

(3) 8247 (4) 5627

afe 312 &1 6 3 654 1 15 foran
SR, 1 978 =i =47 forgT sT@n ?

(1) 17 2) 19

(3) 24 4) 27

T = 39 | 3 fpft. 3w it

2 . et 2 | e 98
gﬁ?ﬂaﬁtﬁmlm.am%aﬂt
o grfl TR gt S5 forddt. =erar 2 |
e qE A WA frafi @ 2

(1) 4. (%) 5Tt
(3) 8 fift (4) 11 et

102. g9, Gftw <1 9ig & | S, g f

103.

104.

afew | o, A w E R T

At A e yer w=mRE R 0
(1) wetem (» =
(3) W§ -, (4) fomm

frafafes 7 @ <9 o1 12 & 1 ofy
T AT GR ?

ABZ, CDX, EFV, GHT, 9

(1) JLT (2) IKS

(3) JKR (4 UR

STOP : POTS @1 RATS : STAR. @)
START: 9
() TRATS
(3) STRTA

e

(2)
(4)

RATTS
TRTSA
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SPACE FOR ROUGH W

2n Z
105, What is related to "Hockey' in the 105. FHY @ T @ yEn w2,
| s?jnjekway] as ‘Umpire’ is related to Frg W * 3T 2 frehe
| "Crnicket’ '] &9
i (1) Captain (2) Player (0 e (2) e RIE
]1 (3) Spectator (4) Referee G) o @
1 106. Find the missing number =7 106. qnamsrmﬁ@tl
.fl ? 9 3 i | Q 5
il 2] 2 7
S L1531 % 5 113 @
(1y 14 (2) 12 (hH 14 (2) 12
(3) 10 4y 9 (3) 10 4 9
| ; Hifor |
: issing term in the series 107, Pr=fefiaa fefil 4 G0 @ 7@
. Eﬂgnl::ln“xﬂmb 5374260, §37426, 37426, _7 _, 742,
26, 37426, _2_, 742, 74,
iﬁzﬁl.ﬂﬁ-ﬁ. 37426, _7_ i p—
() 5374 @) 4261 (3) 3742 (4) 7426
(3) 3742 (4) ARIQ 108, Proferfea aoft # @2 g 9@ 1 ITH
108. Find the missing terms in the given wwmTfae #H | A i
series in their natural order { o B O l 5,25 W .49,11, 7
5 4305 J5EE 7 491), 1 ! () 9.7.121 (2) 9.6.144
{'11}‘ *5“?!21 (2) 9,6, 144 (3) 6,36,121 (4) 5,125,144
O AT21  (4) 51250 oo, Pt @ % T 37 Q 7 A
109. Which of the following numbers ) I wGr 2
continues the series given below - 0,7.26, 63,124, )
0.7.26,63,124,_2 (1y 192 (2)y 200
(1y 192 (2) 200 (3) 208 @) 215
(3) 208 g 2 110, P § % 9 @ 3 gad & 3
110. Which number do€s not belong to the & Em
class of other three ? 1) 5202 @) 3411
(1) 5202 (2) 3411 (3) 2431 (4) 1413
4) 1413 '
A ! — T WORK / T& &1 & fru se




113. Moral values can be best inculcated

/ amongst students by .
(1) arranging lectures of ‘eminent
persons

(2) co-curricular activities
(3) relevant literature
(4) teacherasa role model

114. Operation Black Board was initiated
as a follow up of recommendations

of
(1) NPE 1986
(2) CABE

(3) Kothan Commission (1964-66)

(4) National
Elementary and  Secondary
Education — A Framework 1988

115. In the modem era of fast
technological advancement, what
could be its most serious side etffect ?
(1) Role of teachers would vanish
(2) (Class-rooms would become

smart
(3) Learming would become easier
4y Moral values would get eraded

Curmiculum  for

(3) TEAC e iy =
o & DOL
111, If it is said that students of class VI oGY ;ﬁlﬂw"ﬁ:ﬁl
are :
cnulndmi::ble to read and write, what 1. 3R 7 =g e R own 7% e
o the_ most important reason feram-vgm T S, @
or this situation ? 1 gl TR T ¥ aRRf
(1) Less intelligent children {”' Rt WWTETE'T‘H !
(2) Carelessness of parents : 1 He qfe g
(3)  No detention policy (2) e £ FrwErd
(4) Insensitive implementation of (3) mfﬁﬁm
CCE (4 W@ U HYE GAHA  H
FHaeTIer W
112. In Educational techn
S ology,
application of psychology is knuw}:'l 112, wﬂiﬁmﬁﬂi‘-‘ﬂﬁ! ? i wifawm & v &
as =
(1) Software approach (1) = 39
(2) Hardware approach (2) e IUT™
(3) Pedagogic approach (3) Fomensia 3w
(4) Systems analysis (@) Tt fredrw

113, FraRidl & 4 sl ) S v

lld.mﬁ!ﬁﬁﬁﬂéﬁﬁuﬁﬁmiﬂ

(1) i fem +fifa, 1986

@) i R wemESR A8

(3) HISH FHHEHA (1964-66)

) wmfim i et R &
TeRsRH — T ST (1988)

115, adwr fa i e s 4 g
. wg1 FEI-SE B
(1) Tt A viftem T g e
(2) - TG ER
(3) P grReR gm
(4) ﬁﬁlﬁtﬁ?ﬁﬁ[mm
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116. Teacher should begin a new topic or
lesson with

(1
(2)

leacher’s own experiences

some interests
possessed by students

an overview of the subject

already

(3)

(4) explaining the importance of

the subject

117. Which measure of central tendency

represents a point and not a value ?

(1) Mean (2) Median
(3) Mode (4) Average
118. If the students are classified on the
basis of intelligence level, the
average group will n‘:ﬂmpﬁse of
,  + middle
(1) 33.33 percent
(2) 40,00 percent t
(3) 50.00 percent
(4) ©68.26 percent
119. A good ‘Head of School” is one who
(1) understands ﬂdum.uiur!al
administration and applies 1t
principles in toto
(2) does not compromise with
misconduct
(3) is flexible in approach a?ui
works  co-operatively with
human touch
(4) allows freedom 1o teachers and

students in their affairs

120. Best way to monitor progress IS
(1) monitoring by superiors
(2) self monitoring
(3) monitoring by peers
(4) societal monitoring

(23)

A‘f

z
116, fhiers ! 71 Iufawq a1 918 W9 FA1

=fET

(1) e wad & arpwat A

() frefefa § swere 3o wfi @
(3) o % Rigae &

(4) forg % e ) e

117, e i g 1 A e T, g
Fremmd ?
(2) wIfE

[I*] HEgHTA
(3) WgEr (4) 3t

118, 7R PRl # gfz = F FFR
g R TG & AT WE A A
fsm wforer &=t it 7

{i' (1) 33.33 wfewa

(2) 40.00 wfewma
(3) 50.00 Wi

(4) 68.26 ST

ﬁmﬁm‘ﬂm‘miﬂtf

1

) At o ) w3l 36
Rl T STRCET: TV A &

(2) ﬁmﬂmqﬂmt
=EER % Y SENES wH
il

@ Peet ok froffd ® FF
-l o wdar 2

wify % argdiyw ® Awad aler =
Ll
(1) sl g Sgdem

3)

(4) S g et

119.

120.




Z

121. As per RTE Act 2009, preparation of

122,

123.

124.

the school development plan is the
responsibility of

(1)
(2)
(3)
(4)

School Head Teacher

School Management Committee
Block Education Officer
Cluster Resource Person

As per RTE Act 2009, a full time
head-teacher is provided in a school
having classes sixth to eighth where
admission of children is above

(1) 80 (2) 100
3) 120 @ 130
Continuous  and

context, impli ics ""‘

(1) of

continuous  monitoring
teachers’ performance

assessment not to be spread
aver the total instructional time

(2)

assessment of both scholastic
and co-scholastic aspects of
childrén’s leamning

making teacher accountable to
both parents and school
authorities

(3)

(4)

b

The corporal punishment in schools
has been prohibited by the

(n Child Labour Prohibition Act

(2) National Policy on Education
1986

(3) National Curriculum
Framework 2005

(4) RTE Act, 2009

(24)

Cnmprehenﬁiw.'\ (S
Evaluation {CCE} in. Ihu school! !

TGNE
121, P @ sfard Sffr,
2009 % s frerera Few a7
femtor foerap e 2 2
(1) o qemamns
(29 fererera ya=um afafa
(3) e firen afird
(4) uYE ©ia =l
122. Pryes W@ siferd fan sifirfaam,
2009 ¥F 6T Bl & ST HH1 TH F
firerrera  fofu o Qoienifers HEATEATIS

IYTH FHAGT TN FE A= H AW
T wft

(1y sod¥UE (2)
(3) 1208 wfus (4)

100 & Aftr=
130 & it

3, faurem & " H waq W@ =N
qedied 9 3 R
(1) fhigmt & FreEEm 1 A
Frfteun
(2) T [ A @ A A
Ser
(3) arere At & greU=El w@ HE-
Tl S ST 1 e
s & AE-fa 3k
et st = & wfd
IO T

4)

124, Tl # wnfifes ovg Wi of 2

(1) = o frass stfrfm g
et fven Aifa, 1986 g

(3) TR rEEEl £ w9tEn 2005

(4 A S afufay, 2000 g
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125. Critical pedagogy does not entail the
following :
(1) acceptance of muluple views
on social issues
(2) supremacy of role models to
tollow
democracy as a way of life
collective  decision  making
through open discussion

\ 3)
(4)

L

Behaviour indications are used in the
leamning theory given by
(1) Kohler (2)
(3) Thorndike  (4)
Conditions of learning were given by

(1) Skinner (2)
(3) Watson (4)

126.

Hull
Skinner

127.
Maslow
The concept of primary mental
abilities was given by

(1) Guilford (2)
(3) Spearman (4)

128.

Thurstone
Vemon

Children take more interest i

classroom activities when ‘
teacher behaves in @ friendly

129.

(1)
manner .

(2) subject matier is very easy to
comprehend

(3) teacher commands 8 good
personality Ei-

(4) classroom activities closely

relate to their own experiences

one of the following
first step in the sequence

130. Which
constitutes i
of concept formation -

(1) Ahstrac:tiqn
(2) Experiencing
(3) Differentiation
(4) Ge neralization

Students  respect their  teacher

primarily owing t0 his'her
(1) legal authonty |
(2) personal integnty and goodwill
(3) popularity and influence

AR e ctatiie

131.

Robert Gagne

(25)

i

126.

127.

128.

129.

131.

mﬁﬁmnﬁﬂfﬁmﬂ?mﬂﬁmw
aftrm frgra A & 7
(1) IEeR (2)
(3) oHEES (4)
oty o ard & od o
(w fEFmEm ()
(¢) dRETm (4

Bl
ferTt

fad 3 g
giet gi

'rmﬁmqnﬁmﬁmmﬁaﬁmaﬂ

fema femen 7
(1) feerd (2) @&A
(3) o (4) A

ﬁﬁmﬂmﬁﬁﬁﬁ\%tm :

(n ﬁrﬁﬂaﬁcﬂmm!
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132. Social mobility does not promote

(1

(2)
(3)
(4)

higher positions to deserving
persons

welfare and happiness

pride and snobbery

remedy for maladjustment

133. Which of the following information

about

the child need not be

emphasized in guidance ?

(1)
(2)
(3)

4)

Childs® previous experiences
and examination results
Child's interest, aspiration and
other qualities
Parents® religion,
Social status
Parental aspirations

caste and

134. Which one of the following is not an
element of creativity 7 {

(1)
(2)
3
(4)

Frequency 5 .

Conservation
Flexibility
Elaboration

135. Which of the following was not the
main consideration of Rabindranath

T-EIEUI": while

conceptualizing a

World University — Viswa Bharn ?

(n
(2)
(3)

(4)

Going beyond  apggressive

nationalism

Building friendship with all
nations

Emphasize co-operation
between east and west
Emphasizing oriental
philosophy

136. Kilpatrick's Project method is an
outcome of

(1)
(2)

(3)

(4)

Pragmatism alone
Pragmatism and Realism
Realism alone

Realism and Idealism

(26)

TGNE
132. | nfesfter e g & @ 7

(1) uarg =fedl 1 3= 75
(2) eI GE SERA

() e 3k e

(4) TFEANIH H ITER

133.
SR g 2 =R 7

(1) eE & @@ aE it e
qftoma _
() e A ah, srwiEd 3

A

(3 sPomEel w1 wd, wifa 3
gt TR _

(4) wfnTEERl St ATHIET

froifisa § | #1991 goHTTHdl @ a
TR ?
(1y

(2) wE
(3) =g

(4)

frrifia § @ #1 ®1 o g faEn famg
6 o1 v WAy TR U A
favafiaed - fava yiedt =1 T=fcia =
i

(19 3T TEEE | T A

(2) =t ol A fem =

(3) v 9 v & ooy gEam WA

(4) WG §H WK

134.

135,

Rrertfes 1 soree faftr strsen 2
(1) Fae y@ra=are

(2) maﬁtm

(3) %9 gurfare

(4) Wﬁaﬁaﬂ{mhm

136.

[
}

s Frdv & wwa Freifea 4 & F6w ;
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137. In a good school time-table, which

one of the following is not desirable v,
(1) Assignment of subjects as per
qualification of teachers

Fixed provision of time and
place for activities by teachers
and students

(2)

(3) Opportunity for equipment
utilization

(4) Provision for both longer and
shorter periods

Which one of the following is not 2
projective test of personality 7
(1) Personality inventones

138.

(2) Sentence completion test
(3) Rorscha Ink Block test
(4) Thematic Apperception est
139. Minimum Levels of Leaming
(MLLs) (1991) were identified 1o
(1) combine quality with equity
(2) . help every child pass the class
(3) make aware the parents about
children’s leaming levels
(4) reduce the work load of
teachers
140. Role of teacher in Front Line
Currieulum happens 10 be of a/an
(1) Academic Leader
(2) [Pace Setter
(3) Neutral person
(4) Co-leamner
141. Identify the correct sequence In the

Bloom. Krathwohl and Masiz (1964) :

(1) Receiving,

(2)

(3) Receiving, valuing, organization.
characterization and responding
(4) Receiving, responding,

organization, valuing and
characterization

Taxonomy Affective Domain given by

valuing, responding,
characterization and organization
Receiving, responding, valuing,
organization and characterization

139.

140.

141

3
((4)
ey AT E (o, we.ue.) (1991)

e, el S AR (1964) T T
e WS &9 F i & @ wH
RS |

(1 e, Wb,
T 3 EeA

agv, Hﬁ[ﬁﬂ_m, IAHEA, HT3A
3 Srfefsom

m" EHW! W,qm
i wfefeen

uEv, Yialswar, ®

O y 9EA, HAHTIA

(2)
(3)

4)



142. What is the main reason for

programmes like Sarva Shiksha
Ab‘t:n:.ran not being able to yield
desired educational outcomes 7

(1)

Teachers are in short supply

(2) Inspection and supervision i
ision
weak e -
(3) Quality dimensions are not
monitored properly
(4) Children come from
impoverished backgrounds

143. Which one of the following is not an
aim of Sarva Shiksha Abhiyan ?
(1)  All children to be in school
(2) Most of the children q,et
vocational education
Bridging all gender and social
category gaps
All children complete eight
years of schooling

(3)

(4)

144. If the sieps in an institutional
planning are assigned codes as under :

Formulation of objective . — 2
Activities planned - b
gituational analysis - c
Monitoring mechanisms d
Evaluation and feedback - ¢
What is the correct sequence of events ?

(1) b,a.c6 d
(2) c.a, b.d.e
(3) a.b.c d, e
(4) ec.b.ae d
145. Action Research is done by
(1) Scholars for a degree
(2) Social workers for
implementing projects
(3) practitioners  for improving
their practices
(4) Educational  planners g
administralors

I‘\‘J‘%

(28)

142.

143.

145.

w1 Wiy e & 6wl e aﬁzﬁ?&

wHwa 4 9ifa My ofomm swee
TR E 7
(1) Tere 0 e

(2) Frfiem i RET Fe R

(@) W T IRE @ o &

ﬁniﬁﬁﬁﬂaﬂﬂmuﬁ‘ﬁmmﬁm
TR TEHR ?

(1) b,aced
(2) & a, b, d, e
(3 ab.c d, e
(4) c.b.2¢g d

ﬁmmﬁmgéﬂnﬁﬂia:mﬁmmt?
(1) watea safwd g I R
(2) WIS En E oy S A T

whEreal i w S & o
(3) SHEEEEHAIA! T kil
wHrdgumed § qun g

(@ i it s st a0

TGH
146

14°



147.

148.

149.

150.

'I"GNE
46. Which one is not considered a theory

of motivation ?

(1) Self Actualization Theory

(2)  Psychoanalytic Theory

(3)  Interference Theory

(4)  Achievement Motivation Theory
If one of your students complains of

injustice that she/he has been
awarded less marks, you would

(1) justify the evaluation done.

(2) ask him/her to mind his'her
business.

(3) ask her to report 1o the
principal as per rules,

(4) allow comparison of her/his
script with others.

How can reliability of a test be

increased ?

(1) 'By secking experts’ agreement

(2) By increasing the test length

(3) By shortening the test length

(4) By arranging items in order of
difficulty

A pood Diagnostic test tells us about

(1) the level of accomplishment of
children i

(2) the quality of classroom
instruction

(3) the areas of child’s weakness
and the plausible reasons

(4) the effectiveness of the teacher

Which philosophy of education

termed the role of a reacher as mere
guide and observer ?

(13 Naturalism
(2) [Idealism
(3) Realism

(4) Pragmatism
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